Mopaenb arperaTta: CB452 (Motokoca 1,6 kB1/2,18 n.c. 44,8 cmM3)

Asurarenb.

\A VILLARTEC

lilmm.u.

®

@

S
\
)

\

/ﬂl\t&-.» // D

@

<v||lu\.%“ J

A\



VILLARTEC

Moaenb arperarta: CB452 (Motokoca 1,6 kBt/2,18 n.c. 44,8 cm3)
Asurartens.

Cnucok 3amacHbIX YacTei
Noe Ilos. APTHKY.JI eTaJIH HaumenoBanue Koz-Bo

1 80700128-01 Bunt m/cuennenns CB452/532 2
2 80700089-02 [Taii6a BomH. CB452/453 2
3 80100059-04 Mydra cueruiennss CB352/452 1
4 80700105-01 [ai16a 2
5 80700026-15 Bunat M5x20 14
6 80201881-02 Koxyx maxosuka CB452/532 1
7 80700185-01 Mtudt kaprepa 4x10 CB452/532 2
8 80700052-11 ["aiixa M8 1
9 80100471-02 Maxosuk CB452/532 1
10 80700026-23 Bunat M5x30 4
11 80200452-03 Kaprep 1/2 nepen. CB452/532 1
12 80100460-05 Monyib 3axuraaust CB452/532 1
13 80700179-02 Campauk TC15x30x7 1
14 80700205-01 [Mommmmuuk 6202 2
15 80100318-01 Konenuatsrii Ban CB452/532 1
16 80700084-05 HInonka k/Bana 3x13x5 CB452/532 1
17 80700112-04 WronpuaTeiii mommunHauk CB452/532 1
18 80700175-01 Canpauk TC12x22x7 1
19 80700186-01 tudt kaprepa 5x10 CB452/532 2
20 80400054-02 Ymnoraenue kaprepa CB452/532 1
21 80201880-02 Kaprep 1/2 3agn. CB452/532 1
22 80200581-01 CromnopHoe kounbio nmopuras CB452/532 2
23 80200484-01 [Hopmens CB452 1
24 80200550-01 [Topmnesoii naneny CB452 1
25 80200485-01 Kommpeccuonnoe komibiio CB452 2
26 80400053-01 Ynoraenue mumuHapa CB452/532 1
27 80200214-06 Humuaap CB452 1
28 80400557-01 Ymoraenue rirymmrens CB452/532 1
29 80100339-05 I'mymmrens CB452/532 1
30 80200576-03 Kppimka rimymurens CB452/532 1
31 80700028-02 Bunt M5x14 5
32 80700136-03 [1aii6a 6 2
33 80700046-10 Bunat M6x60 2
34 80302227-01 Kppimka riymurens CB452/532 1
35 80700028-01 Bunt M5x8 5
36 80302225-01 Bepxnsist kpbimka CB452/532 1
37 80302222-01 Kppimka nqeurarens CB452/532 1
38 80400038-01 3armymka pe3. CB452/532 1
39 80100068-01 CBeua 3a)KuraHus 1
40 80201871-01 [Tnactuna nmumuaapa CB452/532 1
41 80700026-18 Bunt M5x25 8
42 80400164-01 Ymoraenue Br/natpyoka CB452/532 1
43 80302235-01 [Tatpy6ok ByckHoit CB452/532 1
44 80400052-01 YmnorHenue kaporopatopa CB452/532 1
45 80101804-01 Kap6roparop CB452/532 1
46 80100053-02 XpanoBuk craptepa ¢ cobaukamu CB452/532 1




VILLARTEC
Moaenb arperarta: CB452 (Motokoca 1,6 kBt/2,18 n.c. 44,8 cm3)

Asurartens.
47 80302233-01 Koprmyc craprepa CB452/532 1
48 80101802-01 Craptep B coope CB452/532 1
49 80101801-01 ®aner Bo3a/dunbTpa B coope CB452/532 1
49,1 80300024-01 [ToBopoTHBIH peruar Bo3z/3acnonku CB452/532 1
49,2 80302229-01 ®nanen Bo3a/guibtpa CB452/532 1
49,3 80300023-01 [ToBopoTHBIH pbruar Bo3z/3acionkun CB452/532 1
49,4 80700075-02 Camopes ST4.2x12-H-C 1
50 80800013-01 HInanr TormsHbli CB452/532 0,1
51 80100029-01 [Mpaiimep CB252/452/532 1
52 80200060-01 Kponmreiin Bo3n/¢unbrpa CB452/532 1
53 80700035-02 Bunt M5x50 2
54 80400039-02 OwuibTp rpyooii ounctku CB452/532 1
55 80400040-01 Bozaymnsiit punstp CB452/532 1
56 80302228-01 Kprpmika Bo3n/¢unsrpa CB452/532 1
57 80300021-03 BunT kpbiniku Bo3n/buinbrpa CB452/532 1
58 80101803-01 TornuBHbIN 6ak B coope CB452/532 1
59 80302305-01 3amuTa ToruBHOro 6aka CB452/532 1




8 cm3)

Mopaenb arperaTta: CB452 (Mortokoca 1,6 kBt/2,18 n.c. 44,

LLTaHra.

VAVILLARTEC




VILLARTEC
Moaenb arperaTta: CB452 (Motokoca 1,6 kBt/2,18 n.c. 44,8 cmM3)

WTaHra.
Cnmcok 3anmacHbIX YacTeu
Ne [To3. | ApTuKyJ aerajmn HaunmenoBanue Kos-Bo

1 80100061-08 Kopnyc cuenenus B coope CB452/532 1
2 80700026-05 Bunt M5x14 2
3 80700048-08 Bunt M6x30 8
4 80200268-04 [lItanra ¥28x1495 CB452/532 1
5 80400257-01 Kowmmnekr - macnoynep:x/moamunankoB CB452/532 6
6 80200546-27 Benymmii Ban 8x1540 sxect. CB452/532 1
7 80300051-01 Xomyt CB452/532 2mr. 2
8 80302332-02 Kponmreitn nepenocuoro pemusi CB452/532 1
9 80700015-09 I"aiika M5 1
10 80700024-19 Bunt M5x16 1
11 80100034-01 Kpemnnenue pykositku CB452/532 Bepx 1
12 80100016-02 Tpy6uaras pyukositka B coope CB452/532 1
12,1 [80200048-01 TpyOuaras pykositka CB532/452 1
12,2 |80700015-13 I"aiixa M5 1
12,3 [80300068-03 Pyuka CB452/532 neBas 1
12,4 [80700035-03 Bunt M5x50 1
12,5 [80300069-03 Kpeimka pyuku CB452/532 neas 1
13 80101410-01 PykosiTka ynpasnenus B coope CB452/532 1
14 80200052-01 Kpennenue 3ammr. koxxyxa CB452/532 Bepx 1
15 80100001-07 3amuTHBIN KOXKyX B coope CB452/532 1
15,1 180300052-01 amuTHbIN KOKyX CB452/532 1
15,2 180200054-01 Kpennenne 3amut. koxxyxa CB452/532 Hus 1
15,3 [80700075-01 Camopes ST4.2x10-H-F 1
15,4 [80300053-01 bopona CB452/532 1
15,5 [80700075-06 Camopes ST4.2x16-H-F 2
15,6 [80200131-01 Hox koxxyxa CB452/532 1
15,7 |80700079-03 Camopes ST4.8x20-H-F 1
16 80101016-01 Penykrop B coope CB452/532 1
17 80200629-01 Hox 3-x nonmactHoit 1
18 80300315-01 UYexou 1y1st 3-X JTOMACTHOTO HOXa 1
1

19

80100098-02

KocuipHag rososka




